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A ERTFRE| HAL B e -3 A7) "

¥k H R ' _A.H 1.13 1.13 1.13 1.13
Al HEKESZI B4 | 10:35 16:35 11:565 16:55
A2 [HEKATE —~ 2 | Eg R | AR
A3 | KR - i A & i
Ad |G m 11. 10 11. 10 - .-
A6 |2 IKEE m 0.6 0.6 3.6 1.1
AT [BRIKIKIE m 0.1 0.1 0.5 0.5
A8 {UR C 3.5 4:5 5.0 4.5
A |7kiE C 5.0 6. 2 8.0 6.9
AL0 |48 — [ HERE | BEES | RERE | BEES
Al4 |84 — i i) fER &R
ALS |FEARE cn 100< 100< 100<. 100<
Bl [pH - — 7.3 8.1 8.0 ° 7.7
B3 |COD 0.1 me/L 2.0 1.8 2.0 2.0
B5 |DO 0.1 me/L 12. 6 13.5 10. 6 11.6
G2 |meE 1.0 5 1.6 1.5 3.7 2.6
X2 |MER - mS/m | 15.5 | "19.6 2140 1250
X42 |C1 (AR L) 1 me/L. - - 7120 -] 4060




21 & 2

T ER A & p/ S U - S

% g K EA DN (F o v 73K . ‘

w
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Al FRKEEZI B4y | 10:35 16:35 9:55 15:55
A2 [BoKALE - EiE EE | ER K
A3 | K& - 51 B 5] &=
Ad [z m 10.93 10. 93 - -
A6 |2 IKiE n 0.5 0.5 1.7 2.3
A7 |BEAKIR m 0.1 0.1 0.5 0.5
| a8 |[&R c 3.9 6.0 4.0 5.0

| A9 |kig T 6.0 6. 0 6.0 6.0

A0 [£14 — | BFEEE | BIREE | BT | B HRE
Al4 |BE — i ER me - | &R
Al5 [BIRE cn 100< 100< 100¢ 100<
Bl [pH - — 7.3 7.4 7.4 7.4
B3 {cop 0.1 me/L’ 1.8 | 2.1 2.3 1.8
B5 {DO 0.1 _mg/L 12.7 12.9 12.5 | 12.5
G2 |IRE 1.0 B 2.3 2.9 4.3 3.2
X2 EER — mS/m 7.3 7.7 28.9 314
X42 |C1 (FHEEERTE) 1 me/L - - 69 902
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kAR A.8 3.3 3.3 3.3 3.3
Al [EEKEEZ Bf:4 | 10:35 16:35 6:55 13:55
A2 [BRARAE — R ER EE EE
A3 K& - = i 581 551
A4 |7k im 10.92 10. 90 - -
A6 |&KiE m 0.4 0.4 1.2 2.9
AT Rk m 0.1 0.1 0.5 0.5
A8 |&iR °C 1.4 3.6 3.0 3.0
A9 [7kiR °C 7.2 7.8 6.0 7.0
AL0 [5ME, — | BHRE | EESE | B | EEE
Al4|EE — ER TR e R -
ALS B cn 100< 100< 100< 100<
Bl [pH — — 7.4 7.4 7.2 7.3
B3 |COD 0.1 me/L 1.8 1.8 2.5 2.1
B5 |DO_ 0.1 me/L 12,4 12. 7 12.1 12.2
G2 |BE 1.0 E 1.7 2.1 3.7 2.0
X2 |EEg ~__| mS/m 7.9 7.3 18. 8 69. 7
X42 [C] (FUBRERIE) 1 me/L - - - 181
X42 [C1 (44720 bs " F78R) 0.1 ng/L - - 40, 2 -




E % 21 £ 4 A g 7K i b =

T4 K FR AL R TR (Fo v 7 $7K)
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BoakA A. H 4,14 4. 14 4. 14 4, 14
Al [ERIREEZ B 10:35 16:35 9:55 16:55
A2 LRkl - Yol EE £l o
A3 | K& -~ 53l ey i i
Ad |7RDE im 10. 94 10, 86 - -
A6 12K m 0.6 0.8 2.6 L1
AT |[Bliok . 0.1 0.1 .5 0.5
A8 |53, C 14.0 15. 5 15. 3 15.3
A9 kil °C 14. 9 14.0 14.5 14.5
ALO |SME — | e | AT | REET | A AR
Ald LR = e 5L ELL $E L e L
ALS B em 100¢ 100¢ 100< 65
Bi |pH — - 7.4 7. 4 7.8 7.4
B3 100D 0.1 e/ L 2.9 2.8 2.5 3.6
85 D0 9.1 mg/ L 10. 4 10.6 9.5 10. 6
G2 | 1.0 BE 4.2 4,1 2,4 8.0
YeR g — nS/m_ 8.3 g2 714 88.5
%42 |C1 (GRIR R 1 me/L =~ - 2180 229
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Al 1ERkiE .41 10:35 16:35 | 8:55 15:55
A2 kA - R K bl K
IXAES 3 - fif 5 iz Ak
Ad kT m 10, 92 10. 93 - -
AG | Rk m 0.5 0.5 2.5 0.9
AT IERAK AR TE m 01 6.1 0.5 8.5
AB 4R °C 22.7 25. 0 22.2 28.3
A9 KL c 19. 2 18.9 19. 8 20. 2
ALQ |18 — RS | IR | BRI | IR
AL, ws ME5L =R w5y g 5L
A15 AL - om 100¢ 100¢< 100< | 55
B1 [pH - — 7.5 7.8 7.8 | 7.6
B3 lcop 0. 1 e/l 2.2 2.2 2.3 4.6
B5 [DG 0.1 | lmg/L 9.7 10. 3 8.5 10. 4
G2 | 1.0 i 1.2 1.4 2.7 15
X2 s - mS/m 10.5 12.4 1710 752
X42 |C1 (BiRkaRE) 1 mg/L - - 5590 2310
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A2 HERIRA = E JER Vil Pistis
A3 | Ri% - i3 il i m
A4 {7k4ir m 10. 96 1117 - -
AB IR i 0.5 0.7 1.5 3.3
AT {BRAKEE o 0.1 0.1 0.5 0.5
A8 JRUR, °C 22. 4 26. 4 26.0 28.8
A9 |7ZkiR T 19.0 20.5 21. 1 23.0
AL0 |#h, — | BT | IR | IR EE | IR A
AL4 | BRSL - fm5 I 5L L
ALS [FBHLAE e 100< 100< 90 75
A1 ipH - — ] 7.5 7.9 7.6 7.6
B3-3C0D 0,1 ae/L 2.5 Z2.5 3.2 2.1
BS 100 0.1 | —-me/ 9. 4 11.0 8.2 8.2
G2 | 1.0 B 11 L9 5.8 6.9
X2 | - w5/ 9.1 8.2 1560 2160
142 [C1 (BeaRHE) b | e/l - - 5180 | 7390
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KA B A. B 7.7 7.7 7.7 7.7
Al (RIS B A 10135 16:35 9:55 14155
A3 |EfE ~ £ & i i
Ad |KAL f 10..92 10. 92 - -
A6 | R IKEE i 0.8 0.5 3.6 1.6
AT | BRIk in 0.1 0.1 0.8 0.5
A8 &R C 26. 2 27. 1 30.0 32.0
AS KR c 21.8 22,2 22.2 22.5
A10 [#M8 — VWK EE | TS | A | B e
Ald | BLAL — =5 SELL Sl fiE
AL5 | LA e 55 50 100¢ 55
B1 |pH - - 7.4 7.3 7.2 7.4
B3 _|coD 0.1 ing/L 4.0 5.7 4.2 5.2
B5 Do 0.1 ng/L. 8.8 8.9 8.3 8.4
G2 1R 1.0 iy 5.9 12 2.3 14
X2 D - nS/m 9.4 8.4 40. 1 29.9
%42 ICL Uy yoeb s 573kE) 0.1 mg/L - - 94.2 66: 3
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KA B , A.H 8.4 8.4 8.4 8.4
Al [BRAcERl BE. 4y | 10:35 16:35 9:55 15:55
A2 BRI — EE | EE ERE EiE
A3 | R - 3 B fi M
Ad Dkt m_ | 10,95 | 10.94 | - -
AB ok aE m 0.5 0.5 3.1 2.0
AT (SRR m 0.1 0.1 0.5 0.5
A8 | SR o 24.5 28.5 28. 5 3L.5
49 [kl C 22.2 23.5 22. 0 24. 0
ALO [ — | BREREE | BRI G | AT | A%
Al4 | BAL - IELL R 0L L 4ESL
| AL5 AL cm 100¢ 85 100< 65
 BI |pH — - 7.5 7.5 7.3 7.4
B33 [cop 0.1 me/l | 2.4 3.1 2.9 3.8
35 |BO 0.1 g/ 5.2 8.5 8.8 §.8
62 |#BE 1.0 B 3.3 5.0 4.0 7.9
0 s — mS/m 7.1 6.9 10.8 22,7
X421CL (Avneby 5738) 0.1 /L - - 14. 8 48. 4
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s AT HME B # " #* HT i

kA B A.H 9.1 9.1 9.1 9.1
AL HRAKEER BE sy | 10035 | 16135 8:55 14:55
A2 iRk {ir fR — piod it pidzs VA
A3 | - i i fiff fitf
A4 KA n 10. 98 11,07 - -
AB & ki m_ | 0.5 0.6 3.0 1.5
AT Bk KT m 0.1 0.1 0.5 0.5
A8 |5iE c 25.0 26, 0 24. 8 32.3
A9 | °C 22.9 24.8 23. 5 26. 5
ALO S04 —- | el | e | IRE | RIS
Al4 | 5L - SEE LS fESL e VL R
ALS | AR EE o 100< 100¢ 100< 100¢
Bl [pH — - 7.6 7.7 7.5 7.5
B3 icop 0.1 mi/ L 2.1 2.2 2.2 3.8
B5 |DO 0.1 | me/L 8.7 9.2 7.9 8.9
G2 |HEr 1.0 1 1O 1.2 L1 3.4
A2 P - mS/m | 9.2 9.2 712 564
X42 |C1 (sl dR ) 1 g/l - - 2370 1670
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¥k A A H. 8 10.6 10. 6 ' 10.6 10, 6

Al ok B4 | 10:35 16:35 11:58 15:55

A2 BRkAr ~ vk g ER bt

A3 | K& - & i o g

A4 ki i 10. 97 11. 14 - -

AB IERIE m 0,5 0. 6 3.8 1.6 -

AT BRGKEE m 0.1 0, 1 0.6 0.5

A8 Al °C 19.2 21.0 22.0 22. 7

A9 ki C 18.8 20. 1 21.5 21.1

A0 |48 — VA | RS | RERT | BIRET

Al4 B - dEn R R R

ALS | en | 100K 100< 100¢ 83 o
B1 [pH - - 7.3 7.6 7.8 7.5 T
B3 1C0D 0.1 /L 2.3 2.5 2.8 3.1
|.B5 1no 0.1 me/L 8.9 9.8 7.3 8,0

62 |Hear 1.0 g 1.0 1.5 2.2 3.5

X2 | — mS /i 8.4 19. 1 1960 1230

X42 |C) (iR 1 /L - - 6480 4030
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m e oA A o LA it

2 %,9: 05 HA.B 1 1110 11.10 11.10 11. 10.
AL KIS Bl 10:35 16:35 10:85 | 16:55
| A2 [BRok O e i ER ok ER
A3 | K% — ] i i3 &
A4 |IR$L fn 10. 35 10. 31 - -
AB | BRI m 0.8 0.8 L8 3.8
A7 |[ERIKIKIR m 0.2 0.2 0.5 0.5
AS SRR C 17.5 16. 2 19.2 16. 7
A9 k3 c 16. 0 15.0 18.6 18.5
ALD | — | BT | T | B | R
Al4 | BLAR - i i SR TR
A15 BB AE _l o 100¢€ 100 61 85
B1 |pH - - 7.1 7.5 7.6 7.4
B3 |cop 0.1 ne/L 1.6 1.8 2.7 2.3
B5 100 0.1 e/ L 9.8 10.3 7.3 7.8
G2 e 1.0 B <10 1,0 4.8 2.7
X2 [HEs - mS/m 7.2 18.0 2220 2160
X42 |C1 UBRERTE) 1| mg/L - - 7580 7460
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HE learmul WA (B B e I Bl

KA B B.H 12,1 12. 1 12.1 12. 1
AL [k EEZI B4y | 10:35 16:35 9:55 15155
A2 JEOR{T R — g R Vi ez EE
A3 K@ - i L it 1§
A% [7k{tE m 10. 97 11. 01 - -
AB |k m 0.5 0.8 3.8 1.7
AT |BRacok R i 0.1 0.1 0.5 0.5
AR (&R T 9.0 12.8 8.9 15, 6
A9 [kl ko 3.9 11. 8 13.0 12.5
A10 |5 —  VIEEGGEE | MEGE | ReT | A%
Al4 R — HESL SR L =5
ALS LA e 100< 100¢ 100< 100< " o o
B1 [pH - - — 7.4, 7.6 7.8 7.6 T T T
B3 |cop 0.1 me/L 1.8 2.1 1.9 2.2
B5 |po 0.1 me/L 11.3 11.8 9.3 10.7
G | 1.0 i3 1.0 <1.0 2.2 2.0
X2 Eass — ms/m 20.9 8.6 2140 835
X42 |C1 (FEErRIR) 1 me/L - - 7330 2620
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